
Core Trainer Olympia(101006)



  Big Washer：(φ10)

    Lock Nut：(M12)Bolt：(M10*20)

  1X

Washer：(φ12)

  2X

Hex Bolt：(M12*105)

  1X   1X

  1X



20
0-

48
0m

m

12
0-
43
0m
m

130-395mm

Maximum load 800KG



  Big Washer(φ10)-1PC

    Nut(M12)-1PC

Hex Bolt(M12*105)-1PC

Washer(φ12)-2PCS

Bolt(M10*20)-1PC

M12
*10

5

φ12

M12

φ12

M10*20

φ10


